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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 630 6.3 1.3 7 89.9 100
2 630 2.6 0.6 3 87 100
3 624 33 1.4 4 81.3 99
4 617 2.9 1.6 4 71.8 97.9
5 627 2.7 1.7 4 66.3 99.5
6 628 3.1 1.2 4 77.7 99.7
7 630 2.6 0.6 3 88.1 100
8 618 1.2 1.1 3 39.3 98.1
9 609 1.9 2 5 38.9 96.7
10 623 34 1.9 5 68.2 98.9
11 586 1.4 1.3 3 46.8 93
12 618 2 1.6 4 49.4 98.1
13 616 3.9 2.8 7 56.1 97.8
14 543 1.4 1.6 6 23.2 86.2
15 553 1.3 1.2 3 44.2 87.8
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(a) Using the table, explain fully how it is possible that there could have been more people
under the age of 20 than over the age of 50 attending the food fair. [2]
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(a) Using the table, explain fully how it is possible that there could have been more people
under the age of 20 than over the age of 50 attending the food fair. [2]
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8.(a) An explanation that refers to enough (all) of the
162 people in the 18-25 group could be under 20

AND enough (all) of the 341 people in the 41-60 group
could be under 50

B2

B1 if the explanation refers to only one of these facts.
B1 for an explanation that only refers to the fact that we
can’t tell, e.g. ‘Don’t know how many under 20 and how
many over 50’
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Sticky Note

Clear and concise explanation.
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Sticky Note

Partial explanation.
Has not addressed the 'under 50s'.










(a) Using the table, explain fully how it is possible that there could have been more people
under the age of 20 than over the age of 50 attending the food fair. [2]
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Sticky Note

Has only explained that we can't tell if there are more people under the age of 20 than over the age of 50.
Question asked for an explanation of how there could have been more.










8. A survey was carried out on the age profile of people who attended a food fair.
A summary of the results is shown below.

Age Under 18 18 to 25 26 to 40 41 to 60 61 and over
Number of
people 120 162 205 341 148

(@) Using the table, explain fully how it is possible that there could have been more people
under the age of 20 than over the age of 50 attending the food fair. 2]











T Show that it is not always possible to fit 13 of these sheds along the wall. 5]
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10

Sight of 275(cm) or 2-75(m)  (‘biggest shed”)
Sight of 3550(cm) or 35-5(m) (‘smallest wall”)
3550 or 355

275 275

=12-9(.)
Clear statement that 13 sheds will not always fit.

AR

AN

Bl
Bl
M1

Al
Al

F.T ‘their smallest wall’
‘their biggest shed’
‘their smallest wall if 3500 <=w <3600 AND
‘their biggest shed™ if 270 < s < 280.
or equivalent in metres.

only if

Alternative methods (for M14141)

13 x 275 Ml

=35-75(m) Al

Clear statement that they will not fit. Al
OR

335 M1
13

=2-75.... Al

Clear statement that they will not fit Al
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Sticky Note

Incorrect upper bound.



Sticky Note

Should be dividing by 'biggest shed'.



Sticky Note

Incorrect conclusion for their answer.










not always po: sheds along the wall.
270 con wwike
36 b . Lo
Bbee Com oy e |

O T . 2 T 0 A A 7> S
BosaSage = Gw.a o Clods @ .




Sticky Note

Correct answer found but unnecessary work calculated.










not 3 to 3 of sheds along the wall. [5]
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Sticky Note

Incorrect upper bound.










10. ldentical wooden sheds are displayed side by side along a straight wall in a builder’s yard.
The sheds are 270 cm wide, measured correct to the nearest 10cm.
The wall is 36 m long, measured correct to the nearest metre.

Show that it is not always possible to fit 13 of these sheds along the wall.











12. A fruit grower knows that it usually takes 20 workers 8 hours to pick 420kg of strawberries.
She needs to pick 360kg of strawberries in 5 hours.

What is the minimum number of workers she should employ?
You may assume that all workers pick strawberries at the same rate.
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12. A fruit grower knows that it usually takes 20 workers 8 hours to pick 420kg of strawberries.
She needs to pick 360kg of strawberries in 5 hours. .
What is the minimum number of workers she should employ?
You may assume that all workers pick strawberries at the same rate.
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12.

20 %360 or equivalent.
420
% 8 or equivalent.

5

=274(..)
28 (people required).

AN

M1

M1

Al
Bl

M2 for correct use of the ‘20 with all four of the
numbers 360, 420, 8 and 5.
M1 for correct use of the “20° with any two of the
numbers 360, 420, 8 and 5.

C.A.O. (to 1dp)
F.T. rounding up.
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She needs to pick 360kg of strawberries in 5 hours.
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You may assume that all workers pick strawberries at the same rate.
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Sticky Note

Clear and concise solution. Fully explained.
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Sticky Note

Correct solution, but this way of working can lead to premature approximations.
E.g 8/21 becoming
0.4 in subsequent work.










12. A fruit grower knows that it usually takes 20 workers 8 hours to pick 420kg of strawberries.
She needs to pick 360kg of strawberries in 5 hours. .
What is the minimum number of workers she should employ?
You may assume that all workers pick strawberries at the same rate.
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Sticky Note

Calculated answer not rounded up the nearest whole number. 27 workers would not be enough.










12. A fruit grower knows that it usually takes 20 workers 8 hours to pick 420kg of strawberries.
She needs to pick 360kg of strawberries in 5 hours.

What is the minimum number of workers she should employ?
You may assume that all workers pick strawberries at the same rate. [4]












